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Instructions for the candidates :

U¥ H9T 1. Candidate must enter his / her

7T g 5:_ BT) Question Boghklet Serial No.
HI7T I (10 Digits) : Answer
2. qilEml T
CieratA

- 15 minutes of extra time have been

allotted for the candidates to read
A 4Ty the questions carefully.
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WUg - 3 / SECTION - A
g% W / Objective Type Questions

U¥T WEET 1@ 70 a% & 9% Wy & ary 9% Ay v & frd 4 @

Wt &1 R gRT 97 v Wt feew # OMR vile v fafevd #¢1 Rl

35 AT FT I 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.

“}gl‘: L tiv-l {:‘ ,
You have to mark your selected option, on the OMR-Sheet. Answer any

e:%""m v
35 questions. 6&%@ 35x1=35

1. mﬁﬁﬁ,@ﬁ%mﬁw@ﬁ%?
a) wRm B fafw

() v (D) &4 4 +18 T8
What is the tendency of endosperm in gymnosperms ?

(A)  Haploid (B) Diploid

(C)  Triploid (D) None of these
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7 mzﬁ‘mma?

(A

®)
















C |

Convergent evolution
{ L

p
18 demonstrated by which of the nr-’”r-"'-':,n,..1
(A) Bacteria and Protozoa (B3) Rat and dmg
(€)  Starfish and cuttle fish (D)  Dogfigh And wha,
1. ﬁwl%—rﬁgaﬁﬁﬁqwfémwwg?
@A) Hore ame
B) = z1y 13,
€ = 3 537 % gy B fo :
(D) 3§ mp w 8
\L-
Which of the following a@@k\af atavism »
(A) Curly haj 6
(B) Long hang
C) A baby born with a small taj)
(D) A of thege 24,
22, Frerferfias ﬁ?i.acnperunﬁ B ‘Tﬁﬂm@,w#&nmé?
(A)  z5fy B)  qafig
(C) Y-t (D) -ty
25A/
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Which of the following does coding of fi-galactosidase in lac

operon ?

1
(A)  z-gene (B) a-gene
(C)  y-gene

(D)  i-gene

23, ﬁ%ﬁﬁﬁ?ﬂﬂﬁ?ﬁﬁ?ﬁﬂﬂﬂ[ﬂbj%?

(A) Tasfeg

(B) e
AL\
(C)  (A) 3R (B) 2 S T
Which of the fn@%&%maﬂy transmitted disease (STD)
(A)  Syphilis (B) Gonorrhoea
(C) Both (A) and (B) (D)  None of these

24, ﬁ%ﬁmmmmwmﬂﬁﬁhﬂmﬁmma?

(A)  8-HIfrh ym (B)  32-ifrhry yu

(C) zmm | (D) I A1 8-Ffrehig yw
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| F=E
(A) are] W _

(©)  owmam wgHl W
In which of the following
(A) On sand

(C)  On bare rocks (D)

3. P § i g 4a wd 22 \\‘:‘“

- OD
il _,-,:"3 'n%‘)_.,‘i@&
A) T LGS B AR
!.s; o
(C) 2ftfsan (D) Efeat

Which of the following is an excellent biofertilizer ?

(A) Azolla (B) Marsilea

(C) Péeridium (D) Salvinia
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(A} Upright posture
(B) Binocular vision

(C) Increasing cranial capacity X“
(D)  All of these 9\)\‘ l

ﬁmﬁmﬁﬁ%@mﬁww&mwﬂ:
(4) fagese . (B) =g@vem

Which of the following types of reproduction takes place in Amoeba

Under favourable condition ?
(A)  Fragmentation (B)  Multiple fission

(D)  Binary fission
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(A) T @)
(C)  3warfemmr (D) &1 < ql

Whe-
1€re does capacitation of human sperms occur 7

(A ;
) Testis (B) Vagina

(C)

Va
S deferens (D) Female genital tract

T <~ ¢
Sk L

brothers ?
45
(A)  One zygote B) Two Zygotes
(C}]  Without zygote (D) Gamete
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(a) T feRop (B)  31e%1 faprur

€ X (D) gd i fgai

Which of the following is used to induce mutation in crop plants ?
(A)  Gamma rays (B) Alpha rays

(C) X-rays (D)  Sunrays

49, mﬁﬁmmwmmm%? "“
()  wEg @é@“\‘
© 3 : 666&

In which of the following does vegetative propagation take place

through tuber ?

(A)  Garlic (B) Amorphophallus
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jant 18 ¢

; r
From which pa

B) pud
(A) Flower
( (D) secd oy 5
C) Fruit :
PR w3 % et

(C) <ruw . - (D) W

A‘ - :
i 2 sterc
Which of the following is used to rcduag%w gﬁmt of chole |

<% B\

P
5 e

in the blood ? o, | 11&;‘,

(A) ‘Statin. ¥ (B) Cyclosporin l._'
(C) Lipase (D) Streptokinase

57. frafafed § & S @& g1 @ ?

(A) G=T B) C=G
() G=C (D) A=T
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NG e B) C=g
(G anG D) As7
s8. = H A ¥ gereier Rya 4 o
| (A) m-RNA (B) r~RNA
(C) cRNA (D)  tRNA

Which of the following is soluble RNA ?

(A)  m-RNA : \‘ '&ﬁ

(C) a& -RNA

%ﬁﬂh&%ﬂm%ﬂ%ﬁmﬂﬁi?
&) wwgeA (B) weEETH
© fgadst ) wiaen

By which-of the fbﬂnwing bonds are the nucleotides of DNA

K g A& ddfea @aft vrererdl,
attaChEd 7 ._ b F%‘ERRFT U5 UF,  Usfeie
ey et
(A) ' |

Hydrogen (B) Covalent
' - BSEBResult.In

"El‘tﬁti'nvalent (D) Al of these ffAe 21 @
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